Exam.Code:0003
Sub. Code: 0201
2121
B.A./B.Sc. (General) Third Semester
English (Compulsory)
(For BA only and Shastri Third Semester)
Time allowed: 3 Hours Max. Marks: 45

NOTE: Attempt all questions. Attempt all parts of each question together.

X-X-X
Section - A
I.  Reference to the Context :-
And sometimes like a gleaner thou dost keep
Steady thy laden head across a brook;
Or by a cider-press, with patient Jook.
Thou watchest the last cozing hours by hours.
OR
Besides,
They’ll see how beautiful I am
And he ashamed----

I, too am America. (5

1. Answer any five short answer types questions in about 50-60 words each:-
i)  What kind of people does money-madness make of us, according to the poet?
ii) What does ‘Sing America’ mean?
111) How is autumn personified in the poemn?
iv) What is the reason for the traveler choosing the less travelled path?
v) Bring out the theme of *‘Ode to Autumn’ by Keats.
vi) What do the two roads symbolize?
vii) How can the fear we feel, when we have no money, turn into delirium.

viii) Comment on the significance of the little of the poem ‘1, Too’. (5x2)
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Answer any two of the following questions in 100-120 words each:-

1) What impression do vou form of Mr. Keladu in the story. *Mr. Know all™?
u) How did Ray shoot his third film?
iil) Explain the significance of the little of the story ‘Not just oranges’,

iv) How has advertising also toppled the world of nature? (2x3)
Section - B
Read the following passage and make notes on any one of the following using

headings and subheadings:-

A newspaper is usually owned by one or by a group of proprietors. They
provide the capital and usually decide the policy of the paper though they do not
normally take part in the day-to-day running of it. This is the responsibility of the
editor. whose job is to make sure that the paper comes out every day and that it
contains the information that readers expect to find in it. He has a large staff to help
him do this, of course. The actual news comes from two main sources: 1he papers
own reporters, and the news agencies. Most papers subscribe to one or more agencies,
i.e. they pay a certain sum of money each vear and in return, they are allowed to make
use of the news which the agency sends them every day. Naturally, they do not use all
this news — they select from it what they need.

OR

The moon looks big in the sky. This is because it is much closer to us thon
anything else in the sky. It is about 3,86.000 km away. In astronomy, this is a very
short distance. The moon is our nearest neighbour. Suppose an aeroplane flew round
the equator of our earth ten times. From the earth to the moon is a shorter distance.
Our next nearest neighbour-is the planet Venus. Venus is over 41 million km away.

A second name for the moon is satellite and so the moon is earth's satellite. The

earth is a planet. Some planets have a number of satellites. In fact, there are only two

planets without satellites. They are Mercury and Venus. (4)
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V. A) Complete the following sentences using the appropriate non-finite forms of verbs

in brackets:-

a) lam {do) my work.

b)  We hope (see) him back soon.

¢} Wesaw him

d)  The coach made us

e)  He was fond of (sleep)

B) Punctuate the following:-

(leave) the house.

(3)

your son is certainly a boy of ability said the headmaster but it all depends upon
you whether he is to do well at school what an extraordinary statement said the
father how can his progress possibly depend upon me you can see replied the

headmaster that he does his homework carefully oh yes said the father i can do at

least that much

C) Do as directed:-
a) He is poor. He is honest.
b) He left no plan untried.
c¢) Radha is as tall as Usha.
d) Kolkata is the largest city in India.

e) It is a foolish statement.

(5)

(Compound sentence)
(Affirmative)
(Comparative degree)

{(Use comparative degree)

(Change into exclamatory)

f) I reached the station. The Train left immediately. (Use as soon as)

g) He was too late to catch the train.

h) The mountain is very high.

1) He finishes home work and put away his books.

]} She is good girl.

X=X-X

(Remove too)
(Use too)

(Change into complex sentence)

(Negative sentence) (10)



